Answers: (Please note that the headings on the chart are in a different order.)

Domain Holes Horiz.A y-int VA Xx-intercepts
2 b =
(-00,-3)u(-3,5)u(5,0) | none | y=0 [0,—— None
7 s 15 x=-3
]
(-00,3)u(3,0) none | y=1 (O,—g] x=3 | (-10)
- (0,0)
- 0,0 =
(-00,6)u(6,0) none | None (0,0) x=6 (-2,0)
o 4
(-00,-1)u(-1,0) none | y=-7 (0,"4) x=-1 (‘75 J
Ny = 2,0
(-00,-2)u(-2,-Du(-1,0) | (-2,4)| y=1 (O,—~2) x=-1 ( )
2 7(y-4) 14 3% +9x-14 22. -2
6(y+4) (x-2)(x+2) 23. 6
7. x+8 15 x+6 24. -5, 4
. 5(x+1) . 5x§ 25 _9
" 36(x+2) 16, —X +3x+7 26. -8, 1
5 x+2 (x+1)(x-1) 2,
. x—2 17. x—3 f()C)= 2x
0. X (x+3)(x+1) (x=3)(x+2)
3 s x(x-10) “
i 30-2) " 6(2x+1) 1. f(x)- 5y
2(y+6) 20 ‘ =13
12 nied 1 27 g%
' (x+5)(x—2)(x+l) #27-79 + 3(L,-377
xX+35 _ f/
20 T ﬂJ’z on M_Q,/ \2¢
13, = 21. 41 32. ZLhs 330 B#mfh
xX+2 /0

34. 7. Smin 35, ’7/00%
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For the following rational function,
holes, determine the x and y inte
Asymptotes should be equations and

determine the equations of all asymptotes, giv )cation of any
reepts, and give the domain of the function. If “n.. say “none”.

lmlt.\finlen:epfs should be ven as pom' ts. I *‘* )
4 .' gi ‘ %"4 “
’ L ? i LI
‘/ : f( .') 15x : X -2 M[ )= x 16

Vert: x __S- Vert: !';- 2_ x:-z Vert: X =2
Hon‘z:_gi Horiz: lé =S Horiz: _ )ONL

x-int: ZZ oNg x-int: ( 35, 0] ( ’%/O) x-int:

Holes: é S—C -—/16 ) Holes: HOM HO‘eSi—DM
4.0) (-40)

y-int:_{ Og‘ ’[ f§z y-int: _/ 0,: I/ ?’) Y‘i"f:—&}i)—

domain:_(—¢©O

v domain: { —0Q *2!‘-" (—-2} 2-) Sl é-—cp 2’ v

(7S, S)e(S,0) Bile =) (2,%0)

Graph each of the following. State both the vertical an
interval notation), roots and y-intercepts.

( 3\”215_\“")
- -2 X+2)

——

d horizontal asymptote, domain and range ( in

6?{ Fx)= 2 g/zlff(xnf_lrz
Vert Asymptote: h == 2 Vert. Asymptote: Z ok 3

Horiz Asymptote; | f = — l Horiz. Asymptote; Y= 2—

pomain (=00 £2 (=2 50) i (=00 73 V((3 ,00)

Rangc:‘é"" o0 y

Roots:

( “’)V(’,)OO) - Range: !'/’mIZDng
0,0)

)

y-intercept:

| Roots: C _J'/L f O g
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